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QUESTION: 71

New software is being installed to handle calls to a call centre. It is very different in
functionality from the system it is replacing. Which of the following is LIKELY to be the
BEST approach to implementation?

A. Large scale integration.

B. Direct changeover / conversion.
C. Acceptance testing.

D. Parallel running.

Answer: B

QUESTION: 72

The systems administrators at a large organization have asked how a new payroll system
should be installed on the mainframe. In which of the following documents should these
installation instructions have been documented?

A. In the program documentation.
B. In the operations manual.

C. In the on-line help facility.

D. In the user guide.

Answer: B

QUESTION: 73
In which of the following activities is the use of Computer Aided Software Engineering
tool UNLIKELY to be helpful?

A. During requirements capture.
B. During detail design.

C. During code generation.

D. During code testing.

Answer: D

QUESTION: 74
Which of the following is NOT likely to be part of a Computer Aided Software Test tools
suite?



A. Dynamic testing.

B. Test management.

C. Static testing.

D. Quality Assurance testing.

Answer: D

QUESTION: 75
Which of the following would NOT be included within an organization’s Enterprise
Architecture?

A. Data and information.

B. Services and products.

C. Systems and applications.
D. Business processes.

Answer: B

QUESTION: 76
A typical IT Architecture team is made up of a number of roles. Which of the following
is NOT usually part of such a team?

A. Sponsor.

B. Customer.

C. Project Manager.
D. Designer.

Answer: B

QUESTION: 77
Which of the following roles is responsible for ensuring changes to an IT architecture are
carried out consistently and to standard?

A. IT Infrastructure Manager.
B. Standards Manager.

C. IT Architect.

D. Project Manager.



Answer: C

QUESTION: 78
Which of the following acronyms refers to an architectural style whose goal is to achieve
loose coupling between interacting software agents?

A. ERP.
B. UML.
C. SOA.
D. MDA.

Answer: C

QUESTION: 79
Why does an Agile approach to development advocate user involvement throughout the
life cycle?

A. Users should learn more about IT.

B. Users are more flexible than developers.

C. It maintains focus on the user’s needs.

D. Users are an extra pair of hands in a busy development project.

Answer: C

QUESTION: 80
Which of the following is a strength of the ‘V’ model?

A. It shows the time frame for development.

B. It outlines the approach to application package implementation.
C. It clearly identifies the levels of testing.

D. It defines the roles required.

Answer: C
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